60.0-
57.5
55.0-

-+ 52.5-

£ 50.0+

< 47.54

£ 45.0-

= 42.5-
40.0-
37.5

35.0

45.0-

42.5+

Time (mins)
H
o
(=]
1

w

~

(3]
[]

35.0

Power output (Watts)

Power output (Watts)

300
250~
200+
150~
100~
=O= Trial 1
50+ - Trial2
=O=Trial 3
c | | | | | | | | | | | | | | | |
0 2 4 6 8 10 12 14 16
Distance (KM)
300
250+
200+
150~ =O= Trial 1
=& Trial 2
=O=Trial 3
100 T T T T T T T 1
(1] 2 4 6 8 10 12 14 16

Distance (KM)

Heart rate (bts-min-')

Heart rate (bts'min-')

200+
180~
160-
140~
1zc | | | | | | | | | | | | | | | |
0 2 4 6 8 10 12 14 1
Distance (KM)
200+
180-
160-
140+ -O=- Trial 1
-&- Trial 2
0= Trial 3
1zc | | | | | | | | | | | | | | | |
0 2 4 6 8 10 12 14 1¢

Distance (KM)



